Expected Inflation and TIPS

Suppose the 10-year nominal rate for a nominal T-bond is 6%, and a TIPS guarantees a 2% real return. This implies a TIPS-derived expected inflation rate of 4%. But 

1. Nominal bond holders should be compensated in real returns for inflation risk, say, 1%, therefore only 3% out of the 4% derived from TIPS reflects expected inflation. This says that TIPS derived expected inflation rate adjusting for inflation risk should be (4-1)=3%.

2. TIPS holders should be compensated in real returns for liquidity risk, say, 1.5% due to lower liquidity in TIPS market, therefore, the 2% of real return guaranteed by TIPS should be subtracted by 1.5%, i.e., 0.5%. This says that the TIPS derived expected inflation rate adjusting for liquidity premium should be (4+1.5)%=5.5%.
Taken together, the adjusted TIPS derived expected inflation rate should be (4-1+1.5)%=4.5%

